## ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0219

## North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

<u>WBS Number</u>: Various 3B and 3BPR Project Numbers On-Call Foam Filling Bank Stabilization in Brunswick, Duplin, New Hanover, Onslow, Pender & Sampson Counties

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	J
1	0000915000-N	SP	MOBILIZATION	10	EA	2,000.00	20,000.00	1
2	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 1 (0-499 GAL)	500	GAL	72.64	36,320.00	P
3	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 1 (0-499 GAL)	500	GAL	62.37	31,185.00	
4	0000990000-E	SP	SOIL STABILIZATION FOAM TIER CASE 2 (500-1000 GAL)	1000	GAL	72.64	72,640.00	1
5	0000990000-Е	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 2 (500-1000 GAL)	1000	GAL	62.37	62,370.00	ł
6	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	72.64	72,712.64	ł
7	0000990000-Е	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	62.37	62,432.37	1
8	8897000000-N	SP	BRIDGE APPROACH SLAB INVESTIGATION	12	EA	1	12.00	
9	8897000000-N	SP	BRIDGE SLOPE PROTECTION INVESTIGATION	12	EA	1	12.00	

TOTAL BID FOR PROJECT: \$357,684.01

CONTRACTOR URETEK USA, Inc.

ADDRESS\_13900 Humble Rd., Tomball, TX 77375

Federal Identification Number 42-1329866

Contractor's License Number we provide specialty construction	Trinat does not fail under any required categories - per NC DOT.
Authorized Agent Edward Hibbard	Title President
Signature	Date10/01/2024
Witness_Laura Goodwin	Title Contracts Mgr
Signature the Godin	Date 10/01/2024
Point of Contact for Post-Bid Inquires (e.g., Letters of Insurance, Bonds, and Contract Execution)  Name Derek Berthelot  Email dberthelot@uretekusa.com  Phone 225-400-1426	f Intent,  PER USA  PROPORATE A  PER POR  PER PO
THIS SECTION TO BE COMPLETED BY NO TRANSPORT This bid has been reviewed in accordance with Article 103-1 of the Reviewed by NCDOT	ATION
Accepted by NCDOT Towns	mic 10/3/24

## ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0219

## North Carolina Department of Transportation **PURCHASE ORDER CONTRACT BID FORM**

WBS Number: Various 3B and 3BPR Project Numbers On-Call Foam Filling Bank Stabilization in Brunswick, Duplin, New Hanover, Onslow, Pender & Sampson Counties

	Onslow, Fender & Sampson Counties						
ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	10	EA	\$2,430.00	\$24,300.00
2	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 1 (0-499 GAL)	500	GAL	\$172.50	\$86,250.00
3	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 1 (0-499 GAL)	500	GAL	\$105.00	\$52,500.00
·4	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 2 (500-1000 GAL)	1000	GAL	\$155.00	\$155,000.00
5	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 2 (500-1000 GAL)	1000	GAL	\$90.00	\$90,000.00
6	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	\$137.00	\$137,137.00
7	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	\$80.00	\$80,080.00
8	8897000000-N	SP	BRIDGE APPROACH SLAB INVESTIGATION	12	EA	\$2,430.00	\$29,160.00

TOTAL BID FOR PROJECT: \$683,587.00

BRIDGE SLOPE PROTECTION

INVESTIGATION

CONTRACTOR Nu-Pipe LLC

SP

9

8897000000-N

ADDRESS HQ - 5600 Central Ave. St. Petersburg, FL 33707; Mail - PO Box 2529 Mt. Pleasant, SC 29465; Remit - PO Box 160695 Altamonte Springs, FL 32716-0695

12

EA

\$29,160.00

\$2,430.00

Federal Identification Number 46-2508486

Contractor's License Numb	er75037			
Authorized Agent / Ashby	y Johnson	Title_CEO, Sol	le Mbr, Estimator	
Signature		Date 10/1/20	024	
Witness Andrea Knell		Title_Secreta	ry	
Signature	9	Date10/1/20	024	
Insurance, Bonds, and Co	·	f Intent,	CORPORATE	
Name_ Ashby Johnson,	CEO, Sole Mbr		SEAL	
Emailashby@nupipe	JS.COM		CORPORATE	
Phone 843-764-7053				
THIS SECTION TO	BE COMPLETED BY NO TRANSPORT		A DEPARTMENT	OF
This bid has been reviewed in a	accordance with Article 103-1 of the		ons for Roads and Structu Date 🔑 /	res 2024. 3/24
Accepted by NCDOT	jullo Ma	40	Date	0/3/24
	·			

## ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0219

# North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

<u>WBS Number</u>: Various 3B and 3BPR Project Numbers On-Call Foam Filling Bank Stabilization in Brunswick, Duplin, New Hanover, Onslow, Pender & Sampson Counties

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	10	EA	1,200.00	12,000.00
2	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 1 (0-499 GAL)	500	GAL	98.00	12,000.00
3	0000990000-Е	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 1 (0-499 GAL)	500	GAL	78.63	39,315.00
4	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 2 (500-1000 GAL)	1000	GAL	95.00	95,000.00
5	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 2 (500-1000 GAL)	1000	GAL	76.73	76,730.00
6	0000990000-Е	SP	SOIL STABILIZATION FOAM TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	93.00	93,093.00
7	0000990000-E	SP	STRUCTURAL FOAM VOID FILL STABILIZATION TIER CASE 3 (1001 GAL OR MORE)	1001	GAL	15.00	15,075.00
8	8897000000-N	SP	BRIDGE APPROACH SLAB INVESTIGATION	12	EA	100.00	1,200.00
9	8897000000-N	SP	BRIDGE SLOPE PROTECTION INVESTIGATION	12	EA	100.00	1,200,00

TOTAL BID FOR PROJECT: \$442,613.00

CONTRACTOR	Applied Polymerics Inc.	
ADDRESS_13	St. James Way, Mt. Airy NC 27030	
Faderal Identification	n Number 56.702 1987	

Contractor's License Number 46705
Authorized Agenty Jungthan SimmonsTitle President
Signature Date 9/30/24
Witness hyrdal & Draughn Title Ass & Sacretary
Signature Mydel S. Braugle Date 9/30/24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name_Jonathan Simmons Wishard
Email JSIMMONS@applied polymerics com
Phone 336.479-1830
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
TRANSFORTATION  This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.
Reviewed by NCDOT Ball 193/24
Accepted by NCDOT
0